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1 If  h(t)= e

-2t
u(t) and x(t)=u(t+2), Determine the output y(t) given h(t) is the impulse 

response and  is the input for the LTI system. 

 

 

10 CO3 L3 

2 The impulse response of a system 1 is  and system 2 is 

h(t)= e
-2|t|

.Evaluate the properties (causality and stability)satisfied by system 1 and 

system 2 

10 CO4 L2 

3 Obtain direct form-1 and direct form 2 representations for the following 

a. y[n]+¼ y[n-1]-¾y[n-2]=x[n] +x[n-1]   

 

b. y[n]+0.5y[n-1]-0.3y[n-3]=x[n] +2x[n-2] 

 

 

10 CO4 L2 

4 

 

 

 

Find the natural response, forced response and complete response of the given 

difference equation.  y[n]+1.5y[n-1]+0.5y[n-2]=x[n]   

  

 given y[-1]=1, y[-2]=0, x[n]=2
n
u[n] 

 

 

10 CO4 L3 

5 Find the natural response, forced response and complete response of the given 

difference equation. 

 
 

10 CO4 L3 

6 Consider an input x(n) and a unit impulse response h(n) given by x(n)=α
n
u(n) and 

h(n)=u(n);   0< α<1.Obtain the convolution sum y(n). 

 

10 CO3 L3 

7 
 
 
 
 
 
 

Compute the convolution sum of the 2 sequences, [n] and [n], given below. 

            [n] =  (1, 2, 3) ,      [n] =  (2, 1, 4) 

 

Also verify the results with tabular method. 

 

10 CO3 L3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 














